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DEPARTMENTAL EXAMINATIONS
SURVEY DEPARTMENTAL TEST — DEPUTY INSPECTOR OF SURVEY
AND LAND RECORDS TEST — PAPER - 11
(Without Books)
Maximum Time : 2.30 hours Maximum Marks : 100
IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
eflfleunes eflemL_weflé @b auens ellewns s e

Read the following instructions carefully before beginning to answer the questions.
emés@rés elaLwelss Qamti@h ey Spssar. idle @rsmer SANONS Lig&&ajLb.

: Answers in excess of the prescribed number of questions appearing at the end of the
answer book will not be valued.
e semer GHUYGLGarar eramaismasE sfawrs auwdulminder, oL ssraier Qmndude
2 drer oifls aanaismaleorar eflenser LALUSEH QeLwiuLng.

2.  Incase of doubt, English version is the final.
damssaiier sxCssllBrdar whfe agald Qer@ssuul(erer elamssGer
Gudwnerg. ,

3. Candidates should use the special kind of papers provided separately by the commission for

answering the questions in respect of the diagram/datas entry type. They should not answer
in the printed forms, if any in the Question paper.

efla@maiiugnyisdr eueTULLD euamIsH/sreysmer o draf(h Geuigd Cgriiurer eNammés@nss
e wels@d Qurmlp GCsraummaruistd SigHEser seflwrs eupmsuulb  SApuy
QUEDTLIL SSTaTseeTL) LWETL(HESeb. omis elamssme@n e GaemsslLbid Genemr iL|seT/Diéssaare
ellenL_well&as snL_mg).

[N.B] (1) Answer ALL questions.

Smansg elarss@ss@n eflen wiarfl.

(2) Candidates are allowed the option to answer the Paper either in English or
Tamil or even to answer the Paper partly in English and partly in Tamil.
e wels@n srelld alaLsdar yudob (Joeg) sOL (Sidog) urd
< idlosSad wHmpb urd sliflaib eflea <eaflssamb.

(3) Marks will be deducted for bad handwriting.
Qseflaupp wepuler maCuwpss @muder LHLLuET GoDeaslLBLD.

(4 Chamber’s Mathematical Tables and Traverse (Boileau) Books are only
allowed with Scientific Calculator.
Gawuriev (Chamber’s) senfls eumiiun® whHmbd Cyreuied umiGe (Boileau)
UsssssILen saflliume igiwgléslu@i.
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L. Work out in a Survey circuit traverse show below up to area.

Smagg eSlammssEnaEh el waldseb.

Station Angles Bearing Distance (meters)

A

R "9 =5 8 6.

Answer ALL questions.

92.39
171.33
133.10
187.48
87.40
201.17
13.7
281.9
144.27
127.9

346.50

43.6
42.0
56.0
122.4
62.4
84.6
166.0
94.6
81.6
37.4

&Cy Qar@ssliur_(Harer gorelfey shilevear LT ey sarfléseylb.
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A
B
C
D
E
F
G
H

I
J

92.39
171.33 l
133.10
187.48
87.40
201.17
13.7
281.9
144.27
127.9

346.50

43.6
42.0
56.0
122.4
62.4
84.6
166.0
94.6
81.6
37.4
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2 Compute the Watch time slow or fast from the record of observation given.

(30)

Qar@ésiul L fws yearall eflurmseialmbg syary Corb s Geuswrargr (Fast)
Sbag srwsorarst (Slow) erer semsdlLayb.

Date of Observation : 22.1.2003

Record of observation for time and azimuth cont.

Value of one Division : 20"

Approximate Longitude

Approximate Latitude

E 77°.20.08".33
N 10°.41'.17".08

Horizontal Angles (for
; B Watch ;
Vertical Angle = p Azimuth only) =
o ot time 2 g g 2
23 4|29 3
EAE £F (€8 | @
R & = I TS < @ |lem |Bo | % g
B 5 I 5 8| 3o 2= | §& 5
< E 4 |98| ®|o EMs) 4 | & |88 |B% |5 =
5 5 |20 5 I R
> e = s | =<
L | @ 3) 4 (5) (6) (M (8) 9 (10) (11) (12) (13) (14)
RO | L 337.48.00| 48.00 | 337.48.00] h
134.34.20) ~
0 L |[28.57.00| 57.00 [28.57.00| 5 5 8.17.15 [112.22.20| 22.20 |112.22.207
134.17.50)
0 L |28.38.00| 38.00 [28.38.00 5 5 8.18.18 [111.49.20| 49.20 111.49.20‘]_ 310120
134.
RO | L 337.48.00/ 48.00 | 337.48.0071 b134.13.40
R.O R 157.48.00| 48.00 157.48.00}_
134.25.00
0 R [30.50.40 | 50.40 |30.50.40| 5 5 8.19.17 [293.13.00| 13.00 | 292.13.00 i o
134.09.
0 R |30.30.40| 30.40 [30.30.40| 5 5 8.20.25 [290.42.00| 42.00 290.42.00}_ i 00 w
134.
RO | R 157.48.00| 48.00 | 157.48.007
Date Declination Difference Equation of time Difference Refraction Parallax

(o] '

22.1.2003 S 19.49.09.40
23.1.2003 19.35.28.60
24.1.2003 19.21.26.00

- '

00.11.29.68

"

15.79
00.11.45.47
15.03
00.12.00.50
3

!

"

"

60° = 1.40.60 25° = 8.20

61° = 1.44.80 30° = 17.80
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3. Given three sides of Measurement and find out the unknown angle of below triangle.
AB =320, BC =660, AC =400. (15)
QG Qsrhssuul@erer p&Comamsdlar 3 UES  eTa|sener Qarar®  Siger

3 Cananriisaer sanédHs. AB =320, BC =660, AC=400.

A

B C

4. Explain the Area Error in a survey field and how it is rectified during the course of
maintenance. (15)

ugmoAt@e urtiuerey Yepuiamaer elleufl ig ereuaimm) sflsl_LLu®dpg ?

5, Write a short notes : (10)
(a) Declination
(b) Magnetic pole
(¢) Meridian
(d) Co-ordinates
(e) True Bearing.
Sm @Oy erepgeyd :
(1) Sl(Heu GNTRISET

(<) &MHS Fi(HAULD
(@) Qufligwer

(FF)  <Bi&& GNRIGET
(o) o awenwwmrer Guifln
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